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1. RBEE
ReHES 3,586, 810 4,874,024 A 1,287,214
REEESE 3,586, 810 4,874,024 A 1,287,214
2. EEEE
(1) EARBIE
T ih 524,142, 000 524,142,000 0
EHES 192, 000, 000 192, 000, 000 0
Rl 4, 400, 000 4, 400, 000 0
EARMESG 720, 542, 000 720, 542, 000 0
(2) BHEEE
EHTEE 20, 000, 000 20, 000, 000 0
BEEESE 20, 000, 000 20, 000, 000 0
EE&ESE 740, 542, 000 740, 542, 000 0
BEESE 744,128, 810 745, 416, 024 A 1,287, 214
I AEO
1. RBEE
KIENTRE 80, 000 80, 000 0
REBAESE 80, 000 80, 000 0
a543 80, 000 80, 000 0
M IERBAEDE
1. {EEIEBKEARE
1B ERBAE AT 0 0 0
2. —HRIEBRELE 744,048, 810 745, 336, 024 A 1,287,214
(D BEKRUE~ADFTHER) 720, 542, 000 120, 542, 000 0
(DB EEE~DITLEE) 20, 000, 000 20, 000, 000 0
IELRBE & 744,048, 810 745, 336, 024 A 1,287,214
BERVEKMESS 744,128, 810 745, 416, 024 A 1,287,214




